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Ql) What is the energy for the particle described by the wave function
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Q4) Show that the wave function that described particle move in a potential box are
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Chapter Four
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1. The minimum energy of H.O. is zero.
2. The energy of H.O. has a continuous spectrum of values.
3. The probability density of finding the oscillating particle has an inverse
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Ualaal) alasiinly

dw%dy(y) ==y¥a(y) +¥2n y 1 (¥)

ywa(y) + % =2n v, 4(y)

1 d B
ﬁ(”d_y) wa(Y)=Vn w1 (y)
a l//n(y) = \/ﬁ l//n—l(y) Q}M\ A5

O ¢! & »bal ens Destruction Operator o=8lall il \/_(y+_) il e
. d
a=— + —

ﬁ(y dy)

O 6 A" 3edu 4l e Creation Operator i) sals = (y—-9) isal e

J2©T dy
I\+_ 1 _i
ﬁ(y dy)

(Read &" as" a dagger")
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1 d _/
ﬁ(y_d_y) Va(Y)=vn+1y,,(y)

or é+ Wn(y) =+vn+1 (//n+l(y)

7. Provethat:

Solution:
¥ alad) aladiul
YW =3 Woa (W) 5 v (Y) @
d%y=—ywn<y)+m Voa(¥) (b)
(@) dabaa (1
Va0 =2 VoY) = Ve (V) (©)

& (0) Ay (Y) @) C Aafoe paisile

WalY) _ v )+ V2 {2 (ywa ()~ Ry ()]

dy
) =y (9 + 29900~ 2 ()
dl//%dy(y) =y, (y) - J2+/n+1 Wi (Y)

yl//n(y)_%:ﬁ"n—kll//nﬂ(y)
L9 vy =iy,

\/E dy n n+1

a-Fl//n(y) =V n+1l//n+l(y) sthall 5 5
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(o AaUall 4013 Alad 6 gal) Qhuiiall 456K A8 Aad gial) Al o) 0 0 [ 8
<V(X)>=3(n+Jho

E

N~

n

Solution:
Ualaal) alasiinly

YW =2 Waa(¥) +/" wpa(y) @

s slunill le LS5 (8) Aldladl ok by (y) o s
(W) Y¥a(y) dy=1/2 [Waa(¥) Waa(y) dy+22 [woa(NWna(y) dy
O g dbe 5 3aalaia Jlsa (a8 5l dadiall A gl Jl 50 ) L

J.l//n+1(y) V/n+1(y) dy=1
[Vna(y) waaly) dy=0

[aa(y) ywa(y) dy=,/o2 (b)
iy sl e JalSiy (@) ddlaall ik 3y (y) b s

[Was) Y wa) dy=13 [woa(y) waaly) dy+ 22 (o s(YWaaly) dy

o Waa(y) Y waly) dy=1/3 (©)

(5 5 A3elS) ALY 2 i) Aal)
<V(¥)>=ime® <X’ >

2
=Ema)2<y—2>
2 a
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gy ebaill Jle SSs () (8) Mabadl ke s
[wa) Y2wa() dy=3 [waa(y) Yy wa(y) dy+"2 [woa(y) y waly) dy
i s Asladl i (C) ¢ (b) o waisnills

<y?>= [ya(y) Yowa(y) dy=4/3-\53+ /225t

2 n n+1l 1
<Y >=—+——=n+=
2 2
0)2
<V(XQ)>=Z—-<y’>
2
V() s=1T 1
2
g2 = Mo
n
2
V)= s
Mo
=—ho (N+—=
e (n+5)
1 |
:EEn sl 5
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9. Provethat expectation value of kinetic energy for harmonic oscillator

<T >:1(n+l)h a):EEn
2 2 2

2
<To=SP > { ) ABUall dab gial) Aal
2m
<T>=" 2>—iT () p2w.(X) dx
om ~om ). P2y,
2 2 © 2
<p > -—-h oy, (X)
T>= = X) — 2 dx
<7 om 2m_jf”() B
12
u;matmy w,(y)=N,e 2’ H,.(y) (281 o) uum‘uﬂwu Jadiul W”(y)
oy’
2)
y Al sdle | Alsladl bk dEi5a 2L
2
W) N o2 CyHm) N, 6 2 HY)
dy
l 12
W) _ N e HE(y) - yNe 2 HL ()
dy
y Al 53l | Alalacall 43l dad) 2aly
2 12 12
W N, 2 HI(y)— yN & 2 HI(y) —N,e 2 H,(y)
y

y( YN, e22H (V) + N, e2 H (y))

2

y
H,(y)
oSle | Aalaall (& (ool s HI () — 2yH[ () +2nH ,(y) =0 483all aladinly

1
2

1, 1, 1,
—Y " Y ' Y
:Nnez Hn(y)_ZyNne2 Hn(y)_Nne2 Hn(y)+y2Nne

26



12 12

=N,e 2 (2yH;(y) - 2nH,(y)) - 2yN,e 2 Hi(y)

12

—N, e2 H (y)+y Ne2 H A(Y)

12

=2y N, e2 H (y)-2nN, e2 H (V) -2yN, e2 H n(y)

12

—N, e2 H (y)+y Ne2 H A(Y)

"= (y?—(2n+1))y,

=y’ -&,) v, (2) Mass

y=aX O éua x ANy

() & ("X = &,) wy(x) dx

<=L jwn<x)aan<x)dx o je W (W) dx

_ 2 4 © ) & h2a2 0
<T>= Jwa () Xy, () dx+ =2 [ wa(wa(¥) dx
2 h 1 . e
<X >:—(n+_) d,al.ul\d\y-d\ha‘ﬂ
(1919) 2
4 2 2
P —h?a* n M ns ) e h”a
2m mow 2m
2 2 2 2
<T>= (n+%)+(2n+1)h o
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2 2
"2 e )
m 2

<T>=

<To=n? M2 (h, 1y
2hm 2

1 1 1
<T>==(N+D)ho==E, <shd »
(o= ?

Yol sduba CiDlals
[x"e™dx=0 (n odd)

a5 sl JalSl A 53 4 S 1)

Example: 1
J'x e dx=0
Example: 2

T e dx = 0

—0

K —al g, |
J;Oe dx_\/;

ole Juani (@) - il oMot Alslaall bkl dsital 33l
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4 ke 5 e JI 5o (oA AUl A gl Jhsall O 2 0 ¢ 120

a®x?

11 -
yo=(a?ln*) e 2

a®x?

v =(a?12:7%) 2ax)e 2

Adlaall (38a3 N ) gall (e A gama o S Jocadll & Ly 8]
J‘l//:nl//ndz-:é‘mn

Orthonormal Set of Function saelxiall 4y 5Ll J) sall (10 Ae gana (oo

S =1 a m=n Wi ke oS
O =0 a m=n 13) Baalatia () o3
3
F 20° T 2
Jwo(¥) wi(¥) dx=—"—[xe“*dx=0
—0 22 JT —©

saalaia J)sall (31 a5 sy JolSll dagis 20 58 AIall () TSl (pe
[w6o(9 w1 () dx=0

Wil

Jwo() wo() dx=—= [ &

o0

=1

s
|

4 e sl
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< 4a300 2 2.2
X X) dx= xe * X dx
jmwl()wl() MJ

—00

2a° 1\/;_

e LA |
Jr 248

(9 () dx=1

G sthaall 8
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el Jlsedl 3y (%) Ledies AXAD 22 113
Solution:
A AX pasdl 8 (Variance) <l

1
(AX)? =<X* >—< x> = Ax:(<x2>—<x>2)2

1

(Ap,)? =< pZ>—< p,>> — ApX:(< pZ>—<p, >2)2

2

AXAP S sy < pZ > e p, >? x> < X>P e UK alag) Lie ag 03

< X> ¥yl

<x>= [po(X) Kypo(X) dx

o < 2,2
:—J'e‘“xdx
Jr

=0
S (5 sl SRSl el 2 3 A Y

<Xx>=0 = <x>°=0

< X% > Ayl Lt

<X >= () %2 wo(X) dx

1
Ax:(< X? >—<x>2)2
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o 0!% —a®x 0. o2 —a®X
= e ? (Hrn) S e ? dx
S rh oX' 4
. - —0(2X2 —a2X2
:—_Ihaje 2 9 ez gy
T, OX
h 0 —062X2 0{2X2
—lha 2 5
=——| e ?2 (-a°x) e 2 dx
e et e
ina® 7 2
= x e dx
<p,>=0 = <p,>>=0
<pZ>= [wo(®) P wo(¥) dx
o 1 a?x? 2 1 a2x2
2 2
[ Zer ()% e
S gh 0 por

32

< p, > Alay) WG

i (5 sl SRSl e 23 3 A Y

< pE > Al

82

a2 2
P =7 ox?

O L



= T I e 2 y e 2 dx
o2 —a?x? o5 —a?x?

L 2 Y (Y g 2

o2 8x(ax )

0, 2
=—(-axe ?
¢ )

—(JCZX2

0
——a’~(xe 2
¢ ax( )

—0!2X2 —0(2X2

=—a’(e 2 -a’x°e 2 )

N N

——a’e 2 +qg’%%e 2

2,2 2 2
2 o —-a“X —-a“X —a“X
—ah

= _[e 2 (—a®e 2 +a'xfe 2 ) dx

Jr

322 o
a’h 2.2
e X dx—

“Jr !

_ashz.\/;_ashzéx/;
Jr  « Jr 248
1

2 2

o0

5.2 ©
_a\/ﬁ j' e dx
V2

o0

= a’h? a’h?
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JAYO N

Nl

Ap,AX =

L
2

S

R |k

Cslhaall 8
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Q 14 ) Using the uncertainty relation Aprzg estimate the energy ground state of
harmonic oscillator

88 i) el Ay HY) AN 8l (i ADAX > g e

Solution:
(The Hamiltonian of H.O is) 9 8l il silaa o
A2
H="" 4 “mes?
2m 2
(The expectation value of energy is) (o» 4dUall dad sial) dagdll
2 2
(Hy=g="P >, Mo 2,
2m 2
(AP’ =<p?>—-<p>2 , (AX)?P=<x®>—<x>?

SLlss < p>=<x>=0 &8sl diall ol Gl (S

(o sall 42 gial) daadll) < x> St Y o)

Aalaal) aladsinly
YU (Y) =2 waa(W) + % woa(y)

i eladll e JalSs, v, (Y) 2 oSlel aleall G yusay
[va) yway) dy=2 [wa(y) woily) dy+ "2 [un(y) waaly) dy
G Baalatia J)gd oo 88 58l Xl A gal) g2 of Laa g

<y>=[w,(y) Yya(y) dy=0 = <y>*=0
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(a0 48 i) dadll) < p> Ayl LG

<p>= [wa(Y) Pwa(y) dy= [ya(y) (—iha%) wa(y) dy

W gy Al Al Aladiuly
oy

dl//%dym =—yw, () +v2n w4 (y)

<p>= [y (NER{=Yy,(y) +v2n v, (y)} dy

==itt [ ya (V) Y wa(¥) dy=i220 [y (y) wia(y) dy

=0 = <p>2=0
(4p)*=<p*>-0 = (4p)*=<p’>
(AX)? =<x*>-0 = (AX)?=<x*>

Apr:g = Ap=——

h 2
4(AX)?

(Ap)® =

:<p2>+ma)2 )

E <X >
2m 2
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<P?> <X > e L

2 2
2m 2

h2

ity oMe | Aaladlly s s2ill s (AP)? =
=y 5 (Ap) 20

2 2
E= MO ng2
8m(AX) 2

a5 gl Ledaa 93 A A8Mall Jualas a8Ual 408 J8) alaaY g

dE h?

=— 3+ma)2(AX)=O
d(AX)  4m(AX)

h
AX)? =
(4%) 2Mmo

Bl Al (AX)? o sl

2 2 m 2 7
E— h . + Mo (AX)Z _ h n 0]
8m- (AX) 2 Bm( h j 2 2mo

2Mmw

:Ehw+lhw
4 4

E="lo gl a5
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H, (-y)=-H,(y) o4& L inclsidy H (-y)=H,(y)c¥ias) n S o 5/ 150

n

Ha ()=’ e

dyn
When n even =2

H,(y) = (0)2%e” jy—ie-yz

- ey2 i (E e_yz)
dy “dy

2 d 2
=e’ @(—Zy e’)
—e’{-2y)-(-2y)e" ~2¢")]
—4y* -2
Ho(-y) =4(-y)* —2=4y” 2= H,(y)
Ho(=y)=H:(y)

When n odd=1

M) =()'e” Lo = (25 =2y

Hi(-y) =2(-y) =-2y=—H,(y)

H,(-y)=—H,(y) When n odd

38
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16. ) Consider asimple harmonic oscillator find ApAX.

(AX)? =< X% > — < X >?
(Ap)? =< p®>—< p>?

< X> Yy

Aalaal) alasiinly
YU (Y) =2 waa(W) + % woa(y)

C:\.u ¢ Liadl) 61!; JA\S.I) l//n(y) u.“a o2le ! Alaladll  pay
J‘l/ln(y) yl//n(y) dy:\/gj.l//n(y) Wn—l(y) dy+\/n7+1 jy/n(y) l//n+1(y) dy
O Baadlatia J)gd & (88 gl QXiall da gl J) 5o ) Laa g

<y>=[y,(y) Ywaly) dy=0 = <y>*=0

Cy=aX
<X>°=0
< X2 > Ay Wi
sl aladinly
YW =3 Yo (W) 2 v (Y) @

i bl (e JalSiy (8) el Aok By (Y) B

(Va9 Y V() =2 [10a() Yaa(y) + 2 [y s Waa(y) dly
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O ) dle gsaalatia J)gd 4 81 gl il A gall Jga O L

[Vaa(y) woaly) dy=1
[Vna(y) waaly) dy=0

[wna(y) ywa(y) dy=,/n2 (b)
iy ol o Sy (@) el ok ()

[Vaa(V) Y wa(y) dy=/2 [Woa(¥) Waay) dy+"2 [0 s (YW aa(y) dy

v Y () By =3 ©
Gy sbadll e JdSis y (V) (8) Al (ke s
an(y) Y2 a(y) dy:\/;j;wn_l(y) Y waly) dy+ \/%E/fnﬂ(y) y wa(y) dy
2 8 Y1 Alladl 3 () « (b) e wme il
<y? >=_Twn(y) Yo (y) dy=\/3-\3+ 5t [od

2 n n+1l 1
<y >:E+T:n+§
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<y’>=a?<x®> <x2>:y—2
a
1
2
<Xf>=——(n+=
( 2)
(AX) = i(n+l)
M@ 2

<V(X) > Adalsl) 48Ualt dad gial) daddl) dla) (Say uaadla
1
<V(X) >:§ma)2 <X >

1 1, 1
V(X)>==h )="E
<V(X) > 5 a)(n+2) > En
<p> Alag) GG
[o 0] [e 0] ) a
<p>= () Pya(y) dy=[w,(y) (20 valy) dy

Wi gy L s Aladiuly
oy

dl//%dy(y) — _y(//n(y) + \/% l//n—l(y)

<p>= [y (NER{=Yy () +720 v, (y)} dy

==ift [ ya (V) Y wa(¥) dy=im2n [y (y) wia(y) dy

=0 = <p>?=0
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< P> Al
<p?>= () Py, (x) dx

© 2
<p?>=-1 [y, (%) a”’a’% dx

(2) b Aalase aladiuly
d2
dy"’; (&0~ Y)W, =0
39
dzl//n Mo Mo - > Mo
= X —¢ Where ¢, =(2n+1) and a“=——
v G SN 7 =(@n+D) ,
d’y,

dX2 = 052(052)(2 _‘9n) Yn

<p?>= () Py, (x) dx
¥ 0%y (X
< p? o= [y (n2 Ty g
b 0 X
< p?>=—h? [y (y) @® (@ - &,) v, dy
< p?>==1%| [y,(0) "Xy, (9 dx—a® [ £, v, (Y, (x) ox

< p?>=—h?a* [y, (%) Xy, () dx+ &, 7% [ v, (Y ,(x) dx
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< X? >:i(n+l)
M 2

< p? >:—h2a4i(n+l) +e,ha’
Maw 2

< p?>=-ha? (n+%)+(2n+1) h? ol

< p’>=hmw (n+%)

5 (Ap) =, [hmo (n+%)
1

Apr=\/hma) (n+%) \/mia)(n+§)

S ApAX=(n+ %) h

<T> 48 Al d8Uall 428 giall daidl) ol (e duaada

2m 2m 20 2 2

E
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Chapter Five

The One Electron Atom G A Aaalay) 3,4

Zaalill (g dgle 3l (3 Ly S 5 laliia (AaalSU ABLAY) ) el e 0sSs SAl Jilusall Jaadl) 138 (et
Akl Adluall e Jadh aqiad Al O 54 43 2 saiall 5 (Central Potential) (s S el agall 4530
V() =V(r) =bsb) s yaiydual¥l ity anall

Central potential: is the potential that depend only on the radial distance i.e.

V(r)=V(r)

Ll s Hon Ol (Z28) And QI3 316 e ST (AN G5 SV Aala ) 5 A Al ja a8t Jaadll 138 A

Quantum Theory of Hydrogen Atom cra souel) 33 4pasll 4, plaill e 58 je JS5 (i
s il Jlaie K o) Cas v(r):_g s 3l g s IV ket e dailil) A€ A3

(osonedls)d z=1 ) dws) 2% /4,

V() =-
(r) Are_ 1

i g yladl) a1 e adiad 2SI A8 () Jaa3l 5 A ) Alaleall (1
b LS A 3 S lilaa YU Jea) Al g vl g 1 Adlisall Jag 5 A0 alagy)

1
r=(x*+y*+2°)2

Jslall s V=V(XxY,2) j X,Y,Z AN G yaeiall ) & V(r) ¢S, gal adtal) iy oy s
Sle Badling 4K A8 8y qu (r,0,¢) a0 5 KU ddasl) caldlaaY) pladinl Jaady ) 13gd 45 3 <)

ross aaly yaia



A 8Dl 4 i S ClBlaaY) s Jai i Ay 5 S0 Apdadll cillaay! ¢l

X =r Sin@ cosg
y =r sinfd sing (@
Z =r coséd

YIS gh Y sl o3a o sSas Lo

r’=x?+y%+z°

tang = (b)

z

cose = T

(x2+y2+2?)2

(Zenith angle)
(X) J}AAM&-L;\}A”O@Y‘J Xy ij""‘“d‘é‘; (r) &M\M\MwBJM\MwJ\J\ :¢

(Azimuth angle) Js M 4l 3 e i

Thedomainof r isO— o
Thedomainof @ is0—r
Thedomainof ¢ is0— 27

The element volume dz=dv=dx dy dz in Cartesian coordinate become in spherical

coordinate dz=r?sin@dr dé d¢



dr=r?sin@dr do dg (A58 Lubdl ) slaall b Lalilll pasll joaic)

The form of del operator V is
.0 .0 I oy s . -
V=i—+j—+k— (oS W GLBlaY) 8 figa)

‘)}M\ :UYJJ Z,¥,X JJM\UM&JJ\CDMLMA@UJQ\J}M\é\bk\&bﬂﬂ\&};ﬁu@)ﬂ}
YIS Juliial) ol 33016 Aol ld wisy Ay S

0 _or o 898 a¢a
ox oxar 8x86’ OXO0¢p

0 _odr o 898 8¢8
8y 8y8r ay(?@ oy o¢g

0 _0ro 000 040
0z 0zor 0za0 0Z0¢

00,00 00 o1 ot O .y ayagemtots O 0 000 <t bay
az 8y 8x 82 8y ox 0z 0y O0OX )
op 09 09
0z 0y OX

Ll o 58 (b) w¥alaall 8o 5k (e b oty
r’=x*+y*+72°

2rﬂ:2x+0+0
O X

ﬂ=l(=sin9 COS¢
oX r

osbY) udly g
or

=siné sing

= Cosl

y
or _
z



cosd =

06

z

—dn@gﬁ:
OX

1
(X% +y? +7%)2

ZX

i

3

(X2 + y? + 2%)2sing

ZX

r3sing

r2cos@ siné cosg

r3sing

06 COos6 cosg

ox r
09 Cosf sing
ay_ r
00 _ sing
0Z r
tan¢:X

X

2, O¢ y
S&: - =

¢8x X2
0 r sing sin
%_- 2ain? ¢2 cos’p
OX  r<sin“é@ cos“¢
o¢ _ sing
0 X rsingd
0¢ _ cosg
oy rsing
% _,
0z

skl s ns 29 sy,
i 0 X

—g(x2 +y? +7%) 2(2X)

At sl

A e S 7y, X pe I Al ¢ i Ll Ay



sLaa) d}lﬂ\ Lé L@A\JJ\ uSAg o2e c.l\.uj\}

ﬂ:Sin6’008¢ ﬂ:Sil"]98i|’1¢ a—rZCOSQ
0 X oy 0z
ag cos@cos¢ ag_cosé’sin¢ 849 _siné?
ox T oy 0z r
o __sing. ¢ _ cosp %_,
OX rsing oy rsing@ 0z
0 _oro 000 opo
OX 0Xdr 0xd0 OX0¢
=sing c:os;zﬁi + 10036? cos¢— _ising &
or 06 r sin@ og
0 _adr 0 89 aJ 8¢ o
ay 8y8r 8y89 8y8¢
=sing sin¢£+}cose sin¢i+} CO_S¢£
or r 00 r sinf o0¢
0 _or o 69 0 a¢ 0
0z azor 8289 aza¢

= C0SH 9 + (—}sin Hi)
or r o6

2 A R 1 9
or r oo rsiné o¢
szizi 20y, —(smH—)
r2or. or’ r?sin@ o6

U gAY 3 O ige

S Al cilglaa ) Ay LY igall

1 8
r?sin?o o¢*




@IS a gt s g Aldlaa

Schrodinger equation for a central potential

—j?
TV 1,09 VO 0.9 =Ey (.09 o

L0 (ging2v(1.0.9),
r’sing 06 00

— h? ii(rz 61//(!’,6’,(15))7L
2m |r? or or

(2)

1 o%y(r,0,9) _
" r2sn%e 0¢° }+V(T)V/(r,¢9,¢)—E‘/’(r"9'¢)

50 &3 s Separation of variable <l el Juad 43 jh aodiv (2) Wslaadl da oY
3)

w(r.0,¢)=R(r)Y(0.9)
Lt A AY Liw r JAL R Gus

oy _y R

or or

oy _RpoY (4)
00 00

Py _ oY
o’ o’

e Jeani (4) ¢ (3) Calilad) (e Llitias (1, 60,0) = R(r) Y(0,4) oe sase 135

_ 32
h %i(rzY@H 21_ i(sin49Rﬁ)
2m (r<or or- r“sing oé 00
2
+— _12 6\2( +V(r) RY =ERY
resin“g og¢
e Jaani RY e odle) Aabaal) dand dic

———(r-—)+ >
or r<sin@ Y o6

r’ Ror

_ 32
h{lla 2 6R L 10 ghpd)
2m 00

()

2
+— _12 16\2( +V(r)=E
resin“dyY o¢
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2mr

A0 Aslaall e Jean Alsbaal) i yisale) 5 (= ) DMl (5) Aslaall sl (o pnd

2 OR 2mr [E V(@ )]

1 aY 1 0%
-= ——( )t (6)
Y| sing 06 86’ sin“ @ o¢

aa‘

OV 1M hsd g 0 Ao ) caplall Laiy ¢ Lad r e adiay (6) Aabaall o el o plall o) JaaBl

2 Jia ol sse ) (5 slane Lagia il S 055,

222 2 e -v(r)]= 2

_1{__( vy, 1 8_@

Y | sing 60 00"  sin?0 o¢?

L@ P 2 e v R=2R ™
1 0 gnedy, 1 Y v o ®)

sind 06 00 sm 20 8¢

pandly ¢ 0 Lo Jad o (8) Aaledll dalg

Y(0,¢) =0(0) O(¢) 9)
e Jhans (8) Jalell ‘;J (9) alaal) (iay g2ty g
i@%(sme o(g) a@(e)) L ~0(0) ach(@ +2.0(6) D($) =0

O(0) D(P) A= Aanilly

1 1 8 (sin o 900), 1 0°D(p)

= +A=0
O(6) sing 06 00 = ®(g)sin®6 o¢p°

@AY dgall ) Sl asd)l a5 SiN? 6 - ode ] Ualrall oy

SiNG 0 4np@O)y ;i gnzg- L P&

a(0) 66 00 O(p) o4’

7



b e ey ¥ Giphll Lain @ e aing sMel Aabaall e ¥ il o (553 Galad) G i

pJie caliane (g shue Legia Cila JS 058 O g 1A

1 d*0o(g) d*®(g)
- =p = +p D(p)=0 (10)
O(g) dg? dg?
1 d,. doo) )7
—— —(sinf@ ———) + (1 - ®@)=0 11
sing do" a0 ) sinze) @) (11)
Solution of Differation Equation ALl el Ja

e V() el AUl () Liag) Jas Sl (pag gy, A el i Gkl L) 260l i alaall (e Jaa3ls
£ 5 e als (S aaind L aldll lialill Adlaall ;. R A o g), R Aslaa (51 (7) Aabaal) 3 s
A5l AU Al g5 AR 13 GBATY lilealil Lagilaaa s @, Al Laswy V(1) el A8LY &1

Ol e 8 el V() oY

A gall AL (5 jlad) oyl

~[1//*1,// dr=1
Ol s

yw(r.0,9) =R(r) ©(0) ©(¢)

v (r,0,9)=R (r) @ (6) " (9)
s 07 aaall jaic 4y ,SI Apadll Lilaay) Laladiiul Ul Ly

dz=r?sing dr d@ d¢
TTTR* (NR(r) © (0)O(0) ® (¢)D(¢) r’sinfdr dodg =1

000

TR*(r)R(r) rad rf@* (6) O(0) sin edezfcb* (¢) ©(¢p) dgp=1
0 0 0

TR* (NR(r) r2dr =1
0



T@* (0) ©(0)sing do =1

2
[ (9) D(g) dp =1
i D(¢) 2 daldd) Usaall Ja Y ol

d?®d
g ¢§¢) 4 1 D) =0 (10)
s oSle ) Aaleall Jall o) (a0 y8
D(p) = A

sle duani (10) Ualea b Ly 52 5 D () = A Ualaall Ll daiiall 231

M:ikAeikqﬁ ’ dzq;g¢):_k2Aeik¢

—k*AeM + uAEM =0
(k% + p)Ae¥ =0
—K*+u=0 = K’=p <« k=tJu
O(¢) = A
O 8 A (51 b Aal) Ll ) 53 58 (585 O g A sl Al ) Ly
O(¢p) = D(p + 27)

Aeii\/fqﬁ _ Aeii u (p+27)
AetVHP = pgtiNH e gtiu 2
gtiuzn _q
e’ =cosf £ising Al alasiulyg
cos2z\[u +isin2zfu =1

Sa (5 o) g dadl aad) ) el

sin 27/ =0



cos2z[u=1 = 2z u=cos™
Ju=m (12)

M=0,+1+2,+3---eer O Cua
(Magnetic quantum number)  oubliadl Sl axelh m=0,+1,+2,+ 3+ (o

. O(g)= Ae™

j D (4) D(¢) dgp =1

jA e ™A™ dg =1

Azjd¢=1
0
1
A=(2r) 2
1 .
D(g)=——=€™ 13
(#) N (13)
M=0,+1+2,+3 - o Cua
da gal) ADAL L 50 & el Ll
A5 SN dpdadl) cldlaa) 8 S g0 T —F e Jusadll ay g Al Jilas 4 50 S cldlal)
r—r ¢ 0—>r—0 ¢ P>+

1
H(rr + @) = (27) 2 €M)

1
— (27[)_§eim¢ . ei mz

€™ =cosmr +isinmrz
1. snmz=sin0=sinz=sin27 =0
2. cosmz=(-)"
D(7 + @) = (D" D(¢)
Parity of ®(¢) is (-)™
(D™ st Ay €M Jalally i ¢ ong @M Al ) imy 568 D il ) 5 AN 5l g

10



The zenith part (iad) ¢ 3ad) il

(11) sadd) O(6) = sl Alsladl) Ja

1 d, .  do) U
—— ——(sihn@ —%) + (14— ®@)=0 11
sing d¢9( do )+( sinzé?) ©) (D
i ool el & = m? sl (e Gl il
1 d,. . do®) m?
—— —(sin@ ——2)+ (1 — 0(0)=0 14
sin® dH( do )+ sin2<9) ©) (14)
2\_1.@\,3)3\ C".\),}g_uﬂ\ U Jazd odle | ddalaall Ja JAY}
O@)=p(w) ¢« w=cosh =i
d_do d
dé dfé dow
i:—sin9i
do dw
1 od . . d m?
—— (=sin@—) (siNn@(—-sin@ — +(A - w)=0
sine( da))( ( 9o p(w))) +( Sir]26,) P(w)
l . 2 dp(a)) m2
—(sin“@ ——=)+ (A — w)=0
da)( de )+ sinze)p( )
cos@+sin’=1 — sin’@=1-cos’d
sin? 0 =1- @?

1 2 dp(a)):| m2
— (- —Z 1+ (1 - =0 15
o 4= PO ) po) (19

L@l aad (15) bl L o | —1< @ <+1 O5Sie Al @ a8 0B 0<O< 7 pd O W
A il Lgd Al As ol (e dlialss Aalas (Second order non linear differential equation)
el Ll gla i ddle 3 ) gean ¢ (13) (12) DValeall 8 LS5 il Uin LSy 8a0n0 ad Al m Lein J e
g Aals Al Gl J gial) Jall el Lol 3 A e e Jsla 2 oy 0 = 41 8 AulesVla
A=0((+]) ¢ £=0123: , £2>|n

11



Angular Momentum Quantum Number sl g5l a3 30 aSl 2l oy 7 o) Cus
O ! Associated Legender functions 438l siall Haiad Ji 53 o3 (15) Aabaall 4 gial) J ladld

m g

p(0) =(1-0%) 2 — T P (@) (16)
do
(=01273------ ,gz‘n'i

Aalaally 4 paall y ¢ 450 e (Legender polynomia ) sdisal 3s0a 13 p, () A ansi Sun

1 d’ 2 ¢
(@)= (@2 -1)’] (17)
M(l@&hh.d\ Gé m=0 s 2
P (@) = p, (@) (18)

AUl daladll 333 p (@) 2 A M=0 0% ledie (15) Aalaall 33s3 Haiaad as0a & 35S o) ()

d

)P _
da)[(l a))dw}z(ul)pf 0 (19)

12



it ) g3 cliua

leie pamy g3 (1) BSs £ As 0 0es @ (B IS JRA Gle Adda Ul b (@) B
Po(@) =1
p (@)=
P, (@) :%(3602 -1

ps(@) =1 (50" —30)

[m

(£ =) s, g Aia 2508 5,88 Ay me (1-0) 2 2l e 3 le (a pM(@) J)sl Ll

3381 jiall il J1 53 e gamr Ghle iy (<)M il Ll

pfl(a))z(l— w°)? /=1 ¢« m=+1
P, (@) =(1-»°)? 30 /=2 « m=+1
+1 2 1 3

p3 (a)):(l—a) )2 5(50)—1) £:3 13 m=+1
p_ztz(a)):(l_a)z).s £:2 13 m:iz
() = (1- ©%)-15w (=3 « m=+2
13 2 3

P; (@) =(1-w")?-15 /=3 ¢ m=43

13



Example : Set up the following associated Legender function pj(w)
Solution: /(=2 ¢ m=1

Im ylm

PP(@)=(-0") 2 (@)

L

d 2 / S
p, (@ )—ZTM J(@? -] e

1 d*
222 dw?
1d d

_2 4 4. 2 92
8 dw da)(a) )

=2 = py(w)= [(a)z_l)Z]

2-(0*-1)-2w

Pi(@) =@ 0" 2L (307 -1
=(1- 0)2)% 3w
ph(@) = (1- 0%)? -30 sl sa
—1< @ <+ pl) el pany pebaelaio Jl sy 8 pM(@) JIsall GG
+Iilogf”(w)loéf‘(w) dw =0

Ol ke e e

2 (C+|m)!
”pz( )‘ 2( 1 (/- "TD'

/= |m)7?
ke JIss Baie (6 {2%2+1 §€+m;'} 3l piM (@) 480 jiad) Hxiad J) g3 G puia ic

14



Spherical Harmonics 4 5 81 i) gal)

Spherical Harmonics function is ssimply the product result of zenitha times
azimuthal parts of the wave function i.e.
Y"(0,4)=p," - ©rm(9)

DO g tie s is S Gl Al A sal A o 53l 6 5ally Gieud) s 5all qijen dusla e

(e daand
Y"(6,4) = NJ"p}"(cosd) - €™ (20)
M=0,£1+2,£3: o ¢ 0=0123-% , (>m

A1 A8l g 5 5 S Ll 0 A 8 paal) il e N )

A (K—i—‘r’d)!

A A A Y A ) LS saalaall s bl A J1sall e fe gana 5SS A5 SH LGS Alls

N = (g Emm) {26 +1 (0~ M)T

IS 0¥ @iy (20 4+1) Lalaie JOas) Ay Al bl s 7, = (0 +1) a8 4505 dady (8) Aabeal
O mdadll e (20 +1) Alla (e dad

M=—0 , (+1,eeenee 0—1,/¢

Example /=1 = m=-101
(=2 = m=-2-1012
Jilais (—D)T™ sa iedi s 5all p(COSH) A Jilai 0Y (=) sn s S il sl Al Jilas o

LB gl VI s olial s (—1)¢ gy SIS AN L 3 13 (=)™ s 5 e sal
me ¢ Jaibia, aald, )

1
AR
° NAr
1
Y. = (ijz cosd)
A

15



Y, = i(ijz sing - e’
8r

Yyt = i(Ej ®sindcosd - e
8

1
Y;? = (Ejz sin?@-e*?
2

Example : Set up the following Spherical Harmonics function Y,™*
Solution:
Y,' = (=2 ¢« m=1

Y(0.4) = N["p"(cosg) €™

m_ [ 2(m+|m) 2€+1(€_‘r’d)l 2
e =D { Arr (£+\r‘d)!}

1
{5
-\ 24rx
m - gfm

pl(@)= (1~ %) 2 o p,()
do

L

p,(@)=— 2 [(@?-1]

20 deo’
E
22 dw?

d

[(@? ~?]

2
_1_1(@2_1)2
8 do dw

16



,\
g

N
e

NIFR NI Ol

1

phw)=(1-w?)2 31

— Z(30° -1
dw 2( )

1

= (1-w?)2-30

=3cosfdsing

Yy = —(i)z 3cosdsing €'
24r

1

= —(—5j2 cosdsing e
8r

saaall ) dame sl il e 5 gia3 @ A ) Laay D @ = paldll bl bl Lo Jpeanll sa

O ) Al 5 s sall daaall e YL
((shlinall oSl 222l M=0,+1+2+3-------

M ssbed ) Sl L ge A el dma (ATl sl o (g 5ia3 © A Laiy

(s1aall) 550 0 ad 31 WSI aaal) gz‘n-( 0=01,23 -

17



g)w‘ f-j@ﬂ G

Al A =0(0+1) oo parsill anys (7) Adadll (1

;( 2‘;? Zmr (E-V(r)=((f+)R
Slo Juani i yill 5 12 e Ll
__( 20"? {—(E V(r ))—W”)}Rzo (21)

Jalriall agall Wil 3 & ¢l sbiia Led dgandll A5 Gan syl 53 Gapins Juaadll 138 L 5V/(r) ALl

3 5ill 5 09 STV G
The Hydrogen and Hydrogen Like Atom L dgoadid) 31 g Cpan g g 33

@by O 8l s Hons Ze Liind Bl e OsSE (s oedl )2 Agndll 31 () Cag el e

2
vin="K . k=2°
r

-Ze
V(r)=
() Az r

dre

, . —Z¢’
Ame

o oy sl
r
1d R {il_r;q(E _)_€(€+1)}R:O

r2dr dr
_p?
30aSIL 5 A ) Aabaall (o juay
8mE
_p? dR om — 42 k. #% /(0 +1
(2 Iy E L D R0
8ME 2 he 8mE r- 8mg r
h zi 2Ry KR (D R, (22)
8mEr® dr = dr’ 4Er  8mEr? 4

18



O s

2 -8m
o = =

_ai (23)
T 4E

i (22) Ualeally (g il

1 d,,dR. nR (/+1) _ R

RN (R WLEANE R-—=0
azrzdr( dr) ar  a’r? 4

D) M e o sl il Jas

2
L o, dR, 2 0°R) F z(fil) 1}R:0
P p 4

—2p—+p -
pZ dp dp2

2
d—R+Ed—R+{n (el 1}?:0 (24)

do® p dp

) midd (24) el p 15 al

s Aaally Jall (ia i o3le ) Alotaall Jal

19



b LSy laladl) 3 Jall i ga € il ad Slasy

co
e -S _0 = (cz—l)e"pzo
4 4
e” 20 ~  2-1ip
4
coxl
2

LYW e p i Ladie gVl (o o iy 43V g Lish 3 Jsile e ansall () Ay Ja)

(g3 s3al Ja L) ey 45Y Galludl Jal 38l
R(p) =e*'? (25)

b LS5 F(p) Jie p @y 25 aslaall juimi Lild 24 Aalaall b yamdl) Jall e J guaall

R(p)=F(p) e”'? (26)
O a5
F(p) = p°L(p) (@7)

Lapally A Aulida & L(p) Uls ease e 8 5 o) dua

L(Io):a0 +alp+a2p+:Zp“

v=0
a #0 Ol

Sle s 24 Alilaall L3 25 Askaall (i sais
’ 1 — '
R(p)=-3¢ PI2E (p) + €72 F (p)
” 1 _ 1 — 12 1 — ! — 4
R'(p) =2° p/ZF(P)+(—§e Pl2E (,0))+{—Ee PR (p)+e”"*F"(p)}

R(p)=(F"(p)~ F'(p) + 2 F(p))e "

R'(p) « R(p) « R(p) o= vaesilly
20



(F(p)-F(p) + (e ™ + 2(F () -~ F(p)}e "
yo, 2

n /(/+1) 1

—p/2
+{;—7—Z} F(p)e

Qi il s @772 Lo Gl

F(p)+ (2 -DF(p)+ (- Ay E ) 20 (28)
p p p
e Jani 28 Alilaall L3 27 Alilaall g sui
F'(p)=sp""L(p) + p°L'(p)
F'(p)=s(s—D)p"? - L(p)+ 50" 'L'(p) + 50" L'(p) + p°L"(p)
= p°L"(p) +25p" L' (p) +S(s—1) p*%L(p)
dasi F7(p) « F'(p) « F(p) caiss

= p°L"(p) +25p" L' (p) + S(s—1) p* *L(p)

*L(p)=0

4 (%—1) [p°L'(p) +spHL(p)]+(”;1— 1D,y

P

,OS
p?L"(p) +25p°L'(p) + s(s—1)L(p) + (% ~[p°L'(p) +sp°L(p)]

28 AN A8l o piay

n-1_ K(f;l))pzl_(p) 0
Yo,

+(
AU IS Ll (Say 3 5a Y1 48Dl
2
P2L"(p) +[2sp+(2p — p?)IL'(p) +[s(s—1) + s(; ~1)p]L(p)

+(p(n=1)—4(¢-D)L(p)=0

21



S PP (p)+ p[(2s+1) - p]L'(p) +[s(s—D+ p(n—s—1)—¢({~D] L(p) =0 (29)
Sle dani p=0 4l dlN ¢ p ol JSldaimia S5 ) 22 29 Aaladlls L(0) £ 0 O Lers

s(s—1) = /(¢ -1)
S padall Aalaall 038 daa
S?+s—(({+1)+sl—sl=0
S°+({+1)—s/—¢(/+1)=0
s[s+ (¢ +1)]—-/[s+ (/+1)]
[s+(¢+D](s=¢)=0
S=/ or s=—(/+1
Gl p =0 e LY R(p) alaall drng 4 doga 0} 2xp S=—(£+12) I & 7> 0 o) e
i 29 Aalaall
pL"(p)+[(20+D) - p]L'(p) +(n—¢-1)L(p)=0 (30)

© Jani 3() MJLLA\‘;Q L(p) = Zavpv o Liage 131
v=0

L'(p)=> va, p’™
v=1

L"(p) =Y o(v-Da, p
v=2

LY u-Da, pt-Dva, p’+2(t+D)> va, p't+(n-1-1)> a, p* =0
v=2 v=1 v=1

v=0

Yv-Da, p" - va,p’ +20+D)D va, p
v=2 v=1 v=2

+(n—€—1)iavp“ +2((+)a +(n-¢-1a =0

v=1
e Joanid 3 A Al (e G aall 5 Y1 aall 3l e Gagais p=m+1 o) Lkl

0

Y(m+hma,, p"-> va, p’ +2((+1) (M+D) &y, p"
m=1 v=1 m=1

22



+(n—£—1)iavp“ +2((+)a +(n-¢-1a =0

v=1
D el G a5 J¥1 aadl 3 m e Iy

S{o-1)a,.,-va, + 20+ +Da,, + (- -Da,} p"

v=2
+2(+Da, +(n—¢-Da, =0
O3S O g A8l o2 (383 O JaY
20+Da +(n—¢-Da =0

a,(+Y(+2(¢+Y))-a,(v—n+/+1)=0

al:—(n—ﬁ—l)
2(0+1)
a, . v-n+/+1

a  (0+D(L+20+2)

1%

Ol p 3 S aily

a'u+l — l
a, v
o iyl
L(p)~€”
4 yhasl) DAl lé anle
_P
R(p)=¢"-e 2
P
~e?

Giiaily JaS dallia a5 alg 2l Lild p 300 ey p ae bl 2035 R(p) oY zsame e 1

Gl g Al Alududia (pe Y 2938 3,88 F(p) Alall 065 o A 3l (g) adatl (5 cangy U A3 gasdll

O S s e e N LA Gy ok e (S
23



v=n—-/r-1

Jsai o) )
nN=v+/+1
oo a3 CSlladll IS5 (@, s) @, s sl oaY) 34
2 1gd Jdall A p JAed B ol L
n>/7+1
ol s
n>/¢
ol v=0,123---- z\r’d O Basa (g yrall (s
N=123 ceeeeee>/
Lopally 4 kil Al Ja 2a sy ailé > ¢ AL )
P
Ry (P):Pﬁe ? Ly (31)
DR ge sike A R(p) Gkl A gé 18 (n— 0 —1) A, 15 0saall 5,88 G L, (p) D
P
(N—1) 423 e 2535 408 A4y pune @ 2
A sl Bins A LB (p) Al claaly ) B
21 p p
pdp2q+(p+1—p)d—pq(q—p)L5=0 (*)
(Associated Laguerre Polynomials) 4l jidl ) &Y dloludiay e
Lusly) i ey A
p

d
q _
Lp(p)_dpp Lq(p)
( Laguerre polynomials ) osSY aluduias i a3 L (p) o) Sus
()= 9 (e p0)
L e —— (e
o) aad (%) Aplualil) Asladd) g 30 Aloladd) 45 )liay

24



L, (0) = L8 (p) = L2 (p) q=n+/( ¢ p=20+1 &
WS ERTTETNERS TR

R,(pP)=N,, p' e Lﬁ?fl (32)
AL ary g5 plaall Cull 54 N, Cus

1

\ _ag (n—¢—1)! }2

"7 on-[(n+ o)
_ . 1
Nn[:_(ZZJ . (n—f—l)!s}z -
na, ) 2n-[(n+/)!]

d2€+l . ) .
|-2€+1(,0) dp ——.,1"Lnye  Associated Laguerre Polynomials dad) yidl &Y Alalidia

n+/

n+/¢

d _ .
Lo, =€ ) (e” ',OW) (Laguerre polynomials) OSY Alludia
22 - 2z
p=ar=—-ru ¢ dj‘j\)}._a)\q.e)lasu.mj a, ¢ a=—— O ua
na, na,

nglaﬂ\ & yall ‘_AL: ALY (e slial TN

1(z ’ -
R21(p)_2—\/6 ;] pe

1(z o o
R3o(,0):9—\/§ g} (6-6p+p7)e

25



Example: Work out the radial wave function R, , R,

Solution:

Ro = n=1, /=0

P

R, (p)=N,, p' e? L2
_ , .
W _|[(2z) (n-r-1
" na, | 2n[(n+¢)1°

\ ___£ 27 ]3 1-o0-11 |2
1 1-a ) 217+ 0))°

iy 429
Li(p)_dpl—l_dp(l P)

26



B Ry

= n=2 , (=0

Ry (p) =N, p'e 271 (p)
22)3 (n—/¢-1! 2
na, ) 2n[(n+0)!]?

27 T (2-0-1)! ]

1
2

2.a ) 2-2[2+0)°

1

A &

I
:(

20+1
LZZ +1

nit (O) :W Loie (0)

n+/¢

d o e
Lo (P) =€ o e’ p™)

dz , _,
L(p)=¢" — (e p°)
do
d d
e — — (e p?
dpdp( p°)

=e a (2pe” —p?e”)
do

27



—e’ (2pe’ +2e” +p?e’ —2pe”)

L,=p°—4p+2

L2£+1( ) d 20+1

n+¢ 1 2041 n+£
do

d
Ll(P)—d_ 2

d
L (p) =4 (p*—4p+2)

=2p—-4

L3 (0) =—2(2- p)

- N
: R2O(p)_ 4\/5(&0)

=— Zj_( ](2 ,o)e2 < sthaall ga

l\a\c.o
M\b

[-2(2-p)]

N w

Jsla zai Cmsoael) 5% Agundll 31 51 5 iSOV Aalay) <3 dunsall Y1) e J geanll
O 3333 Wkaddl b (20) A 50 Y(0,6) Jslas (32) A e R, (1)

Vorm(r.0,6) =Ry, Y,"(6,9)

:_[( ZZJ (n_f—l)l ]2 p( 2 Lﬁj_—;l Yfm(9,¢)

na, ) 2n[(n+0)]?

1

3 2 Vi zr
wm4n9¢rv{(zzj (”‘K‘D!} (éf{]enatﬁf‘wwe¢)

na, ) 2n[(n+)13

2041 (C—) .
4 (m\m)J R (cosd) €

nwa@:enwmm{

28



Im y|m

p;"(cosd) = (1~ w®) PC p, ()

mwnzgzggiwf—nﬂ

L2/+l( ) 2 ( )
n+/¢ d 2041 n+€ Y

n+/¢
=e’

L (e—p pn+,€)

n+/¢ n+/¢

n J%M%}JJ&@\BJJW\t_i\‘)ﬂ\‘ﬁjc:\lmy‘um.ﬁobd\c‘)m)

3 zr
¥ 200 :ﬁ£é]2 (2-—)e*
1 (4 2 zr
Y210 :E(gj (g) e 2 cosd
O sonedl 38 dpa HY1 ANl 2 gl Alla 2a ) 2l
m=0 ¢« (=0 ¢« n=1 O g S S

Voum(T:6,8) =Ry, Y,"(6,4)

2z ’ (n—-/¢-1)! % ‘B 20+1
Rw__[(naoj 2n[(n+ 0)1® pre Ly,

2z ° 1-0-1! % /2) 2041
__hl@J 2qaor | £ ¢

d 2/+1

L2€ +1( )

n+¢ 7 2041 n+€
do

29



n+/¢

e’

N+t —
d n+/¢

L

(e*p er—E) n:1 , [:0

L= L(e” p)=e’ (" -pe”)
o

:1-[0
1= 4
Li(p)—dp L
d
5(1—,0)——1
z . -
Rio(p)=-2 [;) e 2 (-1
Sk
=2|—| e
a,
_ (z . s
a,

m _ ¢ ayz(mHm) 264—1(5—‘[’(‘0!% m -
Y, (6,¢)=(-1 { . “HM)J P™(cosb) €

m ylm

p"(cosd) = (1- w2)2dw—m p, (@)

l
7 @ Y

0

p, (w) =

Po (@) = 1 [(a)2 —1)0]

2°0 do®

P, =p, =1 18 b dlstas sy

30



O sl 303 Zz=1 o) Lags

Enerqgy eigen value

Ol a1 23 Adaledll (ge

2 —8mE —ak
a = ¢ =
h? 4E
—4En , 16E%n?
a= . = o= %
16E°n*>  -8mE
k2 K
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O ) N, el g pum 5 pema 8 i odyiiall A all A2 0555 o) JaY 5

12

-2y
w,(y) =N H,(y)e 2 (8)
GaY N, 6l culidad saiciun
Sl IS LS (S Y (8) Al
V/n(X)ZNan(OtX) e_ 2 (9)

- . . . m .
35328 30K oa H (X)) 5 oSeudS s ilall 22 il 8 9 Lia cg?xP=y? ¢ g = /7(0 o) dua

N Aol e

(1) Aalas (ye
hao
En :76'”
E, :h—a)(Zn +1)
2
E,=ho(n+}) (10)

Jidi (10) aabadl) 5 80 5l Al Caad il 5 13 s all J1 sl Zalall Aipaall Jiai () Alibadl) )
N=0,1,2,3 - dapnall dae ¥ 22l s oS avall sa 0 i ¢ 8l 5l Cyial A8UaL A1) 80
o AL o2g e JB1 5 FanSa A8l 4 85 ) A8l o Sle Wl (10) Alslaall

. .
E, = ho (Zero Point Energy)

eSS el aiasy 48U JBI & 5 jioall Ak 48y ani illy N=0 oaSU 3l et il
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o5 AL il e Sy SN

V(x)
I e S 4 e iaay sacliia
E=hw — p=3
E= ho — n=2
E= he — n=1
E=_he — =0
e 0 .
N oe¥ada ) Js¥ E ¢ g, ¢« H (y) > [os
_:dad)
A0l Bl alasidy
> d" .2
H,(y)=()"¢’ dyne ’
&, =2n+1
E, =ha(n+3)
n H, () £n E
0 1 1 Sho
1 2y 3 Tho
2 4y2-2 5 Sho
3 8y3-12y 7 Tho
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Generating Function Bl gall Ad)Al)

3 gall ANl et dpaly ) Adjal)

G(t,y)=e'
G(t,y)=e" (11)
A8l Lgmadad i g Cua yaa 3 gan 3 0% (3l Sl il ylaill aal gaa) A

e—t2+2ty — i Hn(y) tn

(12)
n=0 n!

G LS (12) sl & eV Calall (5 by e Gl ) s o)) (San

R.H.S = ZH (y) 3

B Hi(y) t Hy(y) t°
— Ho(y)+ T + 2| deeeieieiiiianns

2
=1+ 2yt + (4y? —2)%+

=142yt + (Y2 —Dt2 e @
oY) Gaphall H8 Sy (1 = 0) ddaiil) xie LB Alududa dladiuly

f(t)=f(0)+ f'(0)-t+ f”2('0) 2, f"0)

3
L.H.S=1+2yt+(2y2—1)t2 et eeeereereanas (b)
o (8) e A (D) Aalaall Gl LSl (e

L.H.S=R.H.S
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& e g Baalaia (8 gil) Gludiall A gal) J) gl
The Wave Function of H.O are Orthonormal

o LJ)JQ ﬁ)bh\.&h)lﬁ)\.&}d\}d@ J&J}ﬂﬁﬁhﬂéﬂﬁﬂ\%&ﬂ\d\jﬂ\ u\@u‘dmsj\sﬁb:udﬂ

Aalad) JOA (pedaisall oa

_['//; vodz =6,

—0o0

s (9) olaall 8 slandl dm sl Jlsal) lainlys gyt =gy 8800 Qi Al & o) el

e

T oa?x®
I\ImNnJ‘e Hp(axX)Hy (@) dx =6,

=00

Bllaiadon sl JIgall 585 nem A S )

NN, [eH, (ex) H, (ax) dx =0

=00

Te—azxz H, (ax)H, (ax)dx =0 (13)

-00

Ty nsdl JIpall 06 n=m Alls s

[wa (9w, () dx=N2 [e=* " H ?(ax) dx =1
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N, il culd ala

ggjgd\la)ﬁ\em Nnﬁ,ﬂ\q&q\;ﬁ‘y
[waCw, () dx=NZ [e ™ H 2 (@) dx =1
dy =adx O)s y=ax 8l cua y il x sl Jhas sie
Nr? < _y2 2
— [ H A dy=1 @
b LS 8l gl Al iy et aniios JAlSEN 130 AaY
. > H (y) t"
t, :et+2ty: n
a(t,y) nZ:(]J—n!

Seaninn eliaill Jle JalSis @7V kel o5 Loasds b A 024 (o juiad

_f g(t,y)g(t,y)eyzdy=§&j _I eV H2(y)dy

Sl aa (Y1 (R) Aabaall b Sl a8 5 A1 A8l (e ¥ o plall b QWS ) Bl (g

b LS5 W Gkl

* 2
LH.S= [g(ty)g(t y)e™ dy
LH.S = Te‘tz*”y e ey gy
_ Te_2t2+4ty_y2 dy= Teztze_2126—2t2+4ty—y2 dy

2 % 2 2
:eZt J‘e—4t +4ty—y dy
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= et Te‘(y‘mz dy
dy=dz ¢« y-2t=z O et oDle ) JalSal) It g

LHS=e2’ je‘zz dz

—00

Je‘zz dz=~/7  Jalill iy

—e® Jx

o2t A il L Aluuia aladinly g

2\2 213
S N C R CL
2! 3

ol 23 (a) Al i el

n=0 n! | Nr?
) 2nt2n 0 t2n a
Z | = Z 2 N2
n=0 n n=0 (nl) Nn
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L
wn(x)—(znm&j e 2 H, (a0

N=0,1,23 ail led ALlEall 2l 5 dy jluall 45120 J1 52l olid) Jsaal) bz 3 L Lashs

1 20
n wn(X):(znrﬁﬁTe_ ? Hy(ax) E, =ho(n+)

a2X2 1

0 | (@iliz)e 2 1o
a2X2 3

Ul @2 12227 2(ax)e 2 21
(ZZX2 5

2 | (@7 187%) (4a?X2-2) e 2 21
C(2X2 7

3 | (a2 1487%) (Ba®x® —12ax) & 2 21

AUl A83all e n ddaB Y H | (ax) 31 H (y) ) gebios Wil e

n

H, (1) = (e’ 9 e
dy

Lo 30N (e S Ay e LSS g4 lialst GlEal juadd H(y) o <l ) ddlaly
2 2
[e H (0H,(y) dy=2"nzs,,

el Al B n=m P15 Wla lin LS5 fiamuay JulSH 8 nem S 13 A5 Baadl
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Te‘yzHﬁ(y) dy=2"nl/z (14)

)y () =2nH,.,(9) s
y

2YH, (¥) = Hiya (¥) + 20H, 4 (y) (16)
H, (y)—2yH, (y)+2nH,(y)=0 )

Aagl) Ay A1) ae ACaudIS)) 4y ATl 45 e
Comparison of classical theory with quantum theory

o Lo LSS 4 i) il o Lgale Uilian il ilial) Calias
_ ;ha) o il s ol (S Alall Aad JB 5 jhia (o slusY Loall sl 48 ]
.(Discrete) 4kt s dhaia e 48l Ol sise |2
Ay s Lald 4 A plill Lel 33UV pae Lo dllaia V) ASES ol 4,0 4 kil 83

N W a e sbes Ve oz A 2
(eSSl QN et (o Wilid o paat axd g8 G G sn g [ (X))
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FW (S ) g

Prove that:

1 dH, (y)
dy

2. YH (y)=3H_ () +nH (y)

3. YWy =2 woa (V) + "2 vaa(y)

=2nH, 4 (y)

4 d“’#(y):—ywn(ynﬁ Vo a()

1 d
5. ﬁ(“d_y) v (y) =N woa(y)

1 d e
E(y_d—y) va(Y)=~vn+1w,,(y)

O ) 3 gall AlNAl) Cay a9 3 jalaall Ja pl ardiil |7

a) N, =(2"nz)?

— o 2
b) N”_(znmﬁj

Hy¢H, «H «H, » .8

4 e 5 eddatia JIgo (oa AU s gall J)gall ) 8 1 9

a®x?

wo()=(a?lx*) e 2

a’x?

wi(X) = (@212t 7%) 2(ax) & 2

celil) J1 sl 8 gy (X) Leddiess AXAD 2 .10

A1
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1. Prove that M =2nH, ,(y)
dy
Solution:
3l gall AJall aladsinly
g(t y) _ e—t2+2ty — i Hn(y) tn

n=0 n!
Y ol Al Allaall L plaldgs jall dGiad) 2AL

5_922,[ e—t2+2ty :i Hr,1(y) t"

n=0 n!
dH :
0 n+1
ot e—t2+2ty :ZZHn(r)]/I) t
n=0 .
M 43le
0 2Hn()’) tn+1 © H’ (y) t"
nzzo n! Z(:)
Al o2 (A ke (81" COldlra Bl e
iZHn_l(y) t" _&H
n=0 (n_l)! n=0 n!
iZHn_l(y) t" _iH;(y) Y o
n=0 (n_l)! n=0 n!
ian_l(y) t" _iH;(y) t" o
n=0 (n_l)! n=0 n(n_l)!
- H:
Z( l)'{ —l(y)_ (y)} 0
n=0 \'! ™
- g

H,(y)=2nH_,(y)
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2 Provethat yH (y)=3H,.(y)+nH_ _(y)

Solution:
8l gall Allal) aladniily

glt,y)—e 2 =y T T

n=0 n!

£ ol il Asladll i ylal s sal) diisall 32l

2 0 n-1
%:(_Zt +2y) et :Zan(Y) t

n=0 n!
(2t +2y) e =2y W _p g

© 2yH t" & 2H "
-y yH, (Y) 3 2 (Y)

n=0 n! n=0 n!

) tn 2H tn+1 H tnl
Z:l (y) Z 2 (¥) _Zn (y)

n=0 n!

all iyl 5 1" e Bl slsar

>, H (y) t" &2H () " &S (n+DH ,(y) t
22 HZZ(; (n—1)! _nzzo (n+1)!

S2yH (W) 17 &2H () 1 S (n+DH L (y) t°
nz_o n(n—1)! g (n-1)! Z (n+n(n-21)!

S2yH () 1 &2H () T S HL()
% n(n —1)! nZO (n—1)! ;, n(n-1!

3 t" JzyHn(y)_ _M ~
g(n—l)!l n 2H,,(y) . }_o

2yHnn(y) _2H. L (y)- Hnﬁ(y) 0

te doani i yill 5 g (s _pal
yH, () =3H 1 (y) +nH 1 (y) G stladl s
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3. Provethat: H/(y)—2yH/(y)+2nH_(y)=0

Solution:

FRKIPA aladiuly

H,(y)=2nH_,(y) (@)

Hr'1+1(y) = Z(n +1)Hn (y)

Hia (Y)=2nH,(y) +2H,(y) (b)
b (a) Aabeall 8 Hlaldy jalldsiial) ML

Hy(y)=2nH[,(y) (c)
FRKIPA aladiuly g

yH, (Y)=3H.(y)+nH _(y)

y il odle ) daledl) ‘;)u daidall 3L
yH () + H (Y) =5H . (y) +nH{ 1 ()

i ool Adedl L ¢ b oo sl

yHA () + Hn(y)=%(2an(y)+an(y))+w

YH:(¥) + Ho(y) =nH, (y) + Hn(y)+@

e daanicai yig 2 A
Hr(y)—2yH/ (y)+2nH,(y)=0 <l s
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4. Provethat: yy, =2y, 1 (y)+/% v ()

Solution:
1
l//n(y): Nan(y) e ?
Y o Aalaall oyl o juad
Y
yw,(Y)=N,e 2 yH(y)
el plasiuly
yH, (y)=nH__(y) +3H.(y)

12

yyw.(y)=N,e 2’ {an_l(y)+%Hn+1(y)}

1 .
N, == dadge (mesmills
NI

_ _%yz nH,(Y) Hpa(Y)
yni)=e {\/Z”n!\/;JrZ\/Z”n!\/;}

y l//n(y):e?y { an—l(y) Vn+1Hn+1(y) }

+
J2n 2" n-DWr V242" + )W
YW =R () + M waa(Y) Cslladll 5a 5

170



5. Prove that: W=—ywn()/)+\/ﬁ Waa(Y)
y

Solution:

2

1
-5y
Wn(y):Nne ? Hn(y)
y Jdmall oSl ) Aaleall 8 jlal A8kl AL

1.

dya () o2” 2
YN, 2 (cy)H,(Y)+N, e 2 Hi(Y)

dy
1 1.2

=N, e 2 Hy(y)+N, e 2" Hi(y)
RPN
H(y) =2nH, ,(y)

L Ly

==Yy Nne Zy Hn(y)+2nNne Zy Hn—l(y)

N, 4 e o eill

2ne 2! H,1(Y)
+
Jany2"t (n-)Wr
y2

=—yy, +/2n N, e_THn_l(y)

==Yy,

d%y:—ywn(y)+@ Woa(Y) o sthadl 5

171



1 d
6. Prove that: (Y — =vJn

Solution:
Aalaall alasiidy

d'/’d;ymz—ywn(y) 20y (¥)

ywn(y)+d'/'d#ym =2n v, 4(y)

1 d
ﬁ(“d_y) wa(Y)=vn v, (y)
Ay, (y)=vn v, (y) <sllaall s 5

O d b4l e Destruction Operator =dall il %(y+di) Sl oo
y

a= - (y+ 9

V2 dy

o) &° b4l eps Creation Operator &8l il %(y_diy) Hsall g
oLy g

—ﬁ(y OI)
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i(y_i
V2 dy
or &" Wn(y): vn+1 l//n+1(y)

7. Prove that; ) wo(Y)=vn+1 vy, ..(y)

Solution:
Y aleall alasinly
YW =2 Woa (V) 45 v (Y) @)
)y, () 420 () ®)
(@) Madaa a
Vs =2 Vo) =12 v0a (V)] ©)

i (b) e By (y) ) € Ao sl

M = —ywn(y) + \/%{\/%(yl//n(y) - \/@l/jnﬂ(y))}

dy
S =y () + 290 (1) -2, 09)
dw#(y): Yy (¥) =23+ 1y (¥)
yw. (y) - dya(y) _ V2un+ 1y, (y)

dy
L9y =Vl o)
\/E dy n n+1

Ay, (Y)=vn+1y,,(y) sthall 5 5
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(o A8l A0 Al ) i) il A3l A8UL Zad giall dasdll o 08 0 [
<V(X)>=1(n+hw

E

N[~

n

Solution:
Aalaall alasinly

YW =2 Woa (V) 4% v (Y) @)

i slamill Lo JaSiy (@) Aaal) sk By, () b
[Waa () Y wa(y) dy =2 [Wraa(¥) Waa(y) dy+2 [ s (Nwna(y) dy
O g ke 5 3adxia Jlso o () 5l ldiall A gall J)so O Las g

_[Wn+1(y) l//n+1(y) dy=1
[Vaa(¥) woaly) dy=0

[Waa(y) y v, (y) dy= /22 (b)
iy sbuail) e JdSiy (a) Aadl sk by, (Y) B

[was(V) Y wa(y) dy=12 [, (¥) woa(y) dy+ 22 [ (VoY) dy

[was(y) v wa(y) dy=\3 ©

§ st 43aS]) A3l 48 gial) danall
<V(x)>=1ime® <x*>

2
:lma)2<y—2>
2 a
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s el e QIS5 Y (1) o (8) Abted) o
[wa) Y2wa(y) dy =3 [woa(y) y wa(y) dy+"3 [woa(y) ¥ wa(y) dy
2 5 el 3 (C) ¢ (b) e L sl 5

<y?>= [y, (y) Yoy (y) dy=\3-\/3+ /2 o5
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Vo) Buda OIS
[x"e™dx=0 (n odd)

e (5 by JalSil Aag@i Ay 5 uilS 1

Example: 1
[x e dx=0
Example: 2

2 2
j x3e ® dx =0

Ll

Te‘axzdx = \/E

o a
sze‘axzdx _1 /13
e 2\Va

Sle deani (2) ddull odle) Asbaall byl A8iial) 320 (g) Janll i 61 jal

le Joani (@) il odle) Al i jal A5l 320

) 3z
Ix"’e Tdx== =
i 4\a
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4 ke 5 3alatie 150 (o8 AUl s sl JVsall O 8 0 29

a®x?

vo=(atlxt) e 2

a2X2

v =(a?12: %) 2(ax)e 2

Adbaall (383 AN J)gall (g0 e gana ) SE Jaadll ALy 8
IW;WndT:5mn

Orthonormal Set of Function saelaiall 43 juall J) sall (10 Ae gana caud

S, =1 at m=n 134 jhe 5SS
5., =0 at mzn 1 Badatie oSS
Ny
°" 20 T e
[wo(X) wi(x) dx=—7"—[xe“*dx=0
S 227 %

5aalaia J)sall (3 a5 shay SRS Aasd A 3 A1 ) s (e

[wo(X) 1 (x) dx=0

0 o 0 2
X X) dx=—= | e * X dx
__[ol//o( ) ‘//o( ) \/;__[0
_az
Jr «a
A e Jisall
|
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3 o

t 4a® T oo e
X X) dx = X‘e dx
_jwwl()wl() M_L
_2a° 1n
\/; 2 o
v (0 wi(x) dx=1 3 e Jsall 3

G slhadl s
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il Jlpad) (8 gy (X)) Lexddese AXAD 2> 110
Solution:
B AX sl 8 (Variance) < sl
1
(AX)? =<X*>—<x>? = Ax:(< x> >—<x>2)5
# A, pa N Aol

1
(Ap,)° =< pf>—<py>° =  Ap =(<pZ>-<p,>2p

2

AXAP ) Gy aay <p$>c<px> C<xXP> o< x > e dSalag) Lne cany )

<X > ¥y

<x>= o) X pe(¥) o

aoo_ZZ
=—_[e‘”xdx
NI

=0
i (5 oy il A a4 AN Y

<x>=0 = <x>°=0

< x? > Ay Wil

<X >= () %% wo(x) dx

—00
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R |+

<px> Jlﬁ\m

.. 0
p, =—ih— o
Px ox
" 1 242 1 242
a? .. 0, a?
=J—192(—|h—)—192 dx
R X" 4
2,2 2,2
_Ihaoo —a~X a —a~X
= Je? —e 2 d
NP OX
2,2 2,2
_Ihaoo —a~X —a~X
— [e? (a®)e 2 dx
Jr 2,
ina® T e
_ [x e dx
Jr 2,
S (5 b JalSil dagsd 40 s adlall oY
<p,>=0 =  <p,>=0
< pi> Syl
2 A2
<Px>= _[‘//O(X) Py wo(x) dx
2
2 2 O :
p,=—-1h"— Ol
" x>
" 1,22 5 1,22
o’ 0, a?
=I—192(—h2—2—1 2 dx
R OX™" 4
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= _[ 2 > € 2 dx
Jz i OX
82 —a®x2 PR —a®x2
— € 2 =—(—e ?2)
OX OX OX
—LZZX2
_ 0 2 2
=—(-a°xe )
OX
—OCZX2
_ 2 0 2
=—a°—(xe )
OX
—a®x2 —a%x2
=—a’(e 2 -a’x*e 2)
—0!2X2 —a2X2
=—a’e 2 +a'x’e 2
2 © 70(2X2 7a2x2
_—ah 2 2 2 4.2
= e (—ax“ e +a"X° e
NCERA
3£2 ®© 522 o
a’h 2.2 a’h 2.2
X dx — e X dx

=7 I =

_a3h2.\/;_a5h2-1x/;
Jr o« Jr 24a°

a0, =(<p? > —<p, %)
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Ap, -

R |+

5]
S

L G sthaall g
Ap,AX = Eh
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Q ) Using the uncertainty relation Aprzg estimate the energy ground state of

harmonic oscillator

@s\jﬂ\ EERTR | PETSS P PN (D AVES ApPAX > g EEON R RYPRPRENAW
Solution:
(The Hamiltonian of H.O is) A 88l QX S gilda o)
A2
A=t “me?s?
2m 2
(The expectation value of energy is) o AUall 428 i) Aol
2 2
(Hy=g=2P >, Mo 2
2m 2
(Ap)? =< p?>—<p>> , (AP =<x®>-—<x>?
WSy <p>=<x>=0 280 il il Gl ) Sy

(eoasall 4a8 siall dall) < x > Sl Y

kel sty
yl//n (y) = \/g Wn—l(y) + \/@ l//n+1(y)

i ebadll e JalSis () 8 odke) Aabeal) o yuay
[wa¥) Y wa(y) dy =8 [wa () waa(y) dy+ 22 (o (y) W) dy
O Badlatia J) g0 oa () gl QAN A gall J)ga o) Ly

<y>=[v, () Ywa(y) dy=0 = <y>?=0
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o<Xx>2=0

(2250 Axd il dadll) < > Slag) LG

<p>= [wa(y) Bva(¥) dy= [, (y) (—ih%) va(y) dy

OVn 4y 2 Alstadl Sl
oy

d'/’d;ymz—ywn(y) 20y (¥)

<p>= [y, (NEREYY,(¥) +V2n w4 (y)} dy

=it [ wo(y) Y wa(y) dy—in2n Ju, (y) w,4(y) dy

=0 = <p>’=0
(Ap)>=<p°’>-0 = (Ap)’=<p°>

(AX)=<x*>-0 = (AX)?=<x’>

<p®> <X > Ce g

184



2 2
£ = (AR, MO” \y2
2m 2

h2

=11 o2le ) Adalaally a2l 5 (AD)? =
= (40) 4(AX)?

Ll

h? ma?
E= >+
8m(Ax) 2

(AX)?

PSR WP ENPERTENY A8Mal) Jualay A8Uall a8 J8) Al

dE R

_ 2 _
d(ax) " amaxe T M x)=0

(Ax)2 = L
2mow

Akl Ay (AX)? oo s sl

n’ ma?
E= 5+
8m- (AX) 2

zlhw+1hw
4 4
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H, (-y)=—H,(y) o4& &2inSidy H (—y)=H,(y) sy n <lSoa 5 /o

n

H, ()= (e e

n

When n even =2

2

H,(y)= (—)zt'l‘y2 (;j—ze_yz

> d d 2
dy(dy )

=o' L2y

— eV {-2y)-(-2y)e Y —2¢ )]

=4y* -2

Ho(-y) =4(-y)* —2=4y* —2=H,(y)

S HL(=Y)=H ()

When n odd=1

H,(y) = (O)e” die-yz eV (2ye)=2y
y

H(—y) =2(-y)=-2y =—H,(y)

o gllaal g g dod nWhen H_(-y)=—H.,(y)
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Q) Verify the operator equation
2

d d d )
1. (—=-yY)(—+Yy)=—-y"+1
( dy y)( dy y) 0y y

2
2 (— y)(——y)—dT—y 1AW e
Solution:

1) (j—y— y)(diy+ V) va(y)

d d
= (d—y— y){(d_y +Y) va(¥)}

=Sy ()
y dy
gy -y sy, ()
y dy dy
. dzl/ln(y) l//n(y) 2
g +dy oY) —y——-= oy ) 2180
S0 LA A R
y dy dy
v (y) i

d
I YR (V) + v, (Y) = (W_ y?+2) yo(y)
Since w(y) is an arbitrary function of y, so we can write the operator equation as:

2

d d d )
—=Y)(—+Yy)=—> -y +1 sl
(dy Y)(dy y) dy? y A
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Creationand destruction operator dzadlal) g dad) ) <l Jigal)

From the following equation

1. J—(y )t//n(y) In woa(y) (1)
2 %(y—diy) e () =Nt o) @

d
One can see that the effect of the operator \/_ —(y+ —) on the function ,(y) it will tun it
to the wave function that describe the first lower state on the state (n) ; while the effect of the

1 d _ _ : , :
—) on same function y,(Yy) is to turn it to the wave function that describe the first upper

E(y_dy

1 d
state of the state (n) ; for these reasons the operator E(y + d—) is called destruction operator and
y

1 d . .
the operator ﬁ(y — d—) is called creation operator and denoted by & and & respectively

Vni ) . n+1 En+1
aty,
l//n ~ n En
ay,
W1 ¥ n-1 E,;
v n E,=%ho
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Prove that:

1

1. a=(2mw h) 2(mo R+ip,) (3)
2. & =(2mw h) 2(mw K—ip,) (4)
3. [aat]|=1 (5)
g H-ho@ard } ©)

H=rho@d -3

1
5, )?:(sz(éwé*) (7)
2Mw

1
6 px=—i(hm7“’)2(a—é+) ©
7. [a, H]=newa )
8. [a", K |=—haa" (10)
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1

1) Provethat a=(2me h) 2(Mak+ip,)

Solution:
1 d
a=—(y+—
E(y dy)

M@ d hod
y= —X , —:\/—
dy dx

(J J@&)

a=(\/m“f<+\/ hod,
2h 2mo dx

d d
p, =—-ih— = — =
dx dx
_ @ h lA )
2mw h
/ma)
Zh 2ma) h
_ Mo X+ip,
(2man)?

1
a=(2mw h) 2(Me R+ip,)

G slladll s
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1
2) Provethat &' =(2mo %) 2(me X-ip,)

Solution:

e
J2 dy
h " dy Vme dx
. 1 Mo
= X —
\/E(\/ h \/ma) dx)

4% _ (\/ma) _\/ h i)
2h 2mae dx

p ——ihi = i_lp

X dx dx # ~
_ @ _ Llﬂ)

2mow h

/ma)

2h 2ma)h
_ Mo X-ip,

2ma h)?

1
a=(2mah) 2(maR —ip,) Cslhadl s
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Provethat: H = ("4 +1)ho
Solution:
H :E_F%AZ
2m 2

a=(2me n) 2(me X+ip,)

1
a"=(2mo h) *(mo X-ip,)

ata= (M*@*R% —imaRp — imawPR + p?)
2Mmaoh
~2 s AA A 2
é+él:ma)x |xp_|prr p
2h 2k 2k 2hkme
252 H 2
At A Mo~ X lw,.. .. p
d dhow= —(Xp—-pPX)+_—
5 5 (Xp - pX) -
[% By ]=(%p
252 2
A% A — Ma* X _ha) p
2 2 2m
252 2
A ahp+ @ _MOX P
2 2 2m
(@*a+Hhro=H G sllaall 8
(@a -Hro=H
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Prove that: [é, é*]:l

Solution:

4, a'|-aa" -a'a

la, a|y, =@a -atay,
=84y, —a"ay,

= \/Flé'//n+l - \/ﬁé+'//n—1
=Jn+1Jn+1 y, —nVn y,
=(n+1-n) y,

=Whn
sosthaall sa g [é , é+]=l
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Prove that: R:(L] (a+4a")
2Mmo

Y el il

a=(2me h) 2(mo X+ip,)
1
a" =(2mw 1) 2(mw X—ip,)

i el

a+ad" =(2mw h)_;(ma) X+ip, + Mo X—ip,)
é+é+:QmwhféQmwﬁ)
(meh); & ol
(4+4)2me B2 - 2me %
1

. (2ma n)? .
2mw

2mMw

1
)A(:(L]Z(é.+é+) slhal s
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Prove that: p, = _i(hm_a))z (a-a")

1
ad=02mow h) >(meo X+ip,)
1
a" =(2mw 1) 2(mw X—ip,)
& g ol

1
a-4a"=(2mo h) (Mo R+ip, —Me K+ip,)
1

a-at=(2mo h) 2(2ip,)

195
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Prove that: [é , H]:ha) a

Solution:

Aabral) aladiuly

4, Hl=a (@"a+Yro-(a"a+ o 4

—dd'dho+sdhw-4a"4d ho-he 4

—4d"dhw-4"4 4 ho

(@a -ata)=|a, a*|=1

d, Hl=roa sl s

196



Operator Treatment il el 48y o dadleal) (2

(2) Uira (g0
d® l//n

+(&y = Y)W, =0

d®y,(y)
dy?

- yZWn (y) =—&W, (y)

2

(02 () = e (¥)
dy

2

d d d )
——Y)(—+Yy)=—5-y +1
( dy y)( dy y) dy? y

d2
d——y —(——y)(—+ y)-1
y

R L e,
y ~dy

2E,
E =
ho
d d - 2E,
{(d—y—y)(d—y+ y)—l} wa(y)= P (y)

’“"{(—— )(—+y) 1} v (y) = —Enpa(y)

2=+2-/2

w%(d )}j y)—ﬂwn(y)?Enwn(y)

\/—(y_"_)

197



a= -9y = a=-r( oy
V27 dy V2 tdy

hoo (—aﬂa—%) o () =—Enwa ()

-l (B

1
ho (8" + 5) wo(Y)=Ew,(y) (11)
Rl a3l

la, a']=1 = (a4 -a'a)=1

ho{(a 4" 1) +§} vo(¥) = Era(y)

Dbaad) e &7 Adladl 0 et
A+t[A A+ 1 At
ho a'{(aa _1)+E} wa(y)=E, a'y,(y)
+ 14 +
ha (a aa _Eé ) l//n(y):En a l//n(y)
Cpadll (e il e &7 )AL
A+ A 1 A+ A+
heo (& a—E) a'y,(y)=E, &'y, (y)
o1 o
A4 A 1 A+ A+
hao (a a_5+1_1) a l//n(y):En a Wn(y)

+ 1 + +
ho (4 é"'E_l) a l//n(y):En a l//n(y)
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i il

hoo (878+2) &7y, () - o 8, () =E, 8, ()
ho (878 +2) 89, (1) =, 89, (9) + 510 89, (y)
ho (878+2) &9, (9) = (€, + 1) 8w, (y)
H=ho 8"+ %)
H &'y, (Y) = (E, + 7o) &'y, (y) )
By, () =gy O i
H ¢, =(E, + o) ¢, n=m (12)
Siaall A s oS 13 gy A sall Al ol e et A s (s A ) Ak oS0y K25 5 Alilas 4 o2
(E, + ho) Wb )oedsiliad; H fsdlsam il s g =487y, b E, dldiied sl
E, 0813 (e (e (o sinna ) O RN G5 58 i (Y s B = E, + 1w el olasialys

n+1dM\‘§jaﬁu\J\A§Aﬁ En+ha) ‘n GM\‘EZ\BLH\J\JLJA

S il iy a5 e

éJrl//n (y) =vn+1 l//n+1(y)
(¢) Aalaally (g g2l

I:I vin +1V/n+1(y) = En+1 vin +ll//n+1(y)

I:I l//n+1(y) = En+1l//n+1(y) ) n= 011’ 2’3 ot (13)
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8 Cadall sl (10) Adedl Uy pon o4 Ll iy s

e 1o )
ho (4 & a+§a) v, (Y)=E,ay,(y)

la, at]=(aa —aa)=1

aa =1+a

A . 1, 5
he{(@a+1) a+ -8} wa(y) =By, (y)

1, . .
hofd™a+1+ E}a v, (y)=Eaw,(y)
o1
hof(a é+§) +148 v, (y)=E,ay,(y)
A+ A 1 A A o~
ho(a a+§) ay,(y)+ho ady,(y)=Eay,(y)

N 1

T P A
ha)(a a+§) a l//n(y):(En _ha)) a (//n(y)

H=ho (74+1)

I:' a l//n(y):(En _ha)) a l//n(y)
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- Ay, (y) =Vn ()
o silly
- BV () = (B, —ho)n w4y (Y)
H v (y)=(E, —ho) v, (y)
O (e (aaS (o sise () G A 38 Tiw OV L
E,-ho=E
H Wa1(Y)=E g woa(y) (14)
(N—1) Aesll Alall S5 5l dalae o
w, Ao sd) Al Gpea gall 881 Gl QAN A8 (o fua o) & B o) Larg
Hay, =(E -ho) vy,

Ay, =0 050 @A am )V (g sl (o J8 d8UD i3l 4503 dal 2a 53V (Ol Ly
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Hy, =E.y, ay, =0
1 1 d
ho(@a+>)y. =E.p. —(y+—) v. =0
( Z)V/ 7 ﬁ(y O|y) 7
. d
ho@ay, +-y,)=Ey Y.+ v =0
— y
dy,
Shoy, =Ey dl=—yw
y
1 tdy, 7
EO:Eha) I—:—Iy dy
v, 0
y2
* E,,=E, +ho nYn-_Y
v, 2
3 1y
E1=Eo+hco=§hw ya(y)=w.(y) e’
E2=E1+ha):gha) BﬁM\LJ&e\Jiﬁu\g v, .J\;::\QSA:g
1 T
En :ha)(n'i'j) JV/nV/n dy:]-
© 2 2
[we? pe? dy=1
w? je_yzdyzl
1)¢
pir=1 = t//=( j

T
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Q ) Consider a simple harmonic oscillator a) compute expectation values < x>

<x?>,<p>,<p’> b)find ApAx c¢) find <V(X)>,<T >, <E>

Solution:

é+ ¢ a Q\Jﬁ}d\emgdyubud\a%@

<X > ¥y
1
R h \2,. .. " »
=] —— | (&a+4a") EAREIN[JNRERAE
2Mo
<x>= [y, Ry, dx o sall 4l giall Aagdll

W, =y, 8l il o) Ly

0 1
oo\5ia, A+
<x>= [y, (G —)*(@+a") v, dx

1l o 1w

<X>= (m)2 J"/M ay, dX+(m)2 _[Vln a'y, dx
G aladl) aladiuly g

ay, (y)=vn w4 (y)

A&, () =Vn+1 y,.(y)

e Ty v o ()2 [T g
2me” " 1 2me” 7 " i
T [y v O (P2 T i O
2mw PG 2mw AR

:\.I..)l:\c; Baalaia d‘}d@ Lga\jﬂ\umaiaﬂi\;}d\ d‘jﬁu\ LAQ}

L <%>=0 = <R%>?=0
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< x? > lag) Wil

1
x:(_h jz(m a*)
2Mo

'S :L(a Aa+4 4" +4*a+a*a")

2mm
o2 T h AA | AAT | ATA L ATAT
<®>=[y,(—)(Ad+aa" +a"a+4"a")y,dx
- 2Mmw

<R 5= (1) [ o8 A wydx+ (o) [w,d 'y,
2mw” * 2mo” *

A+ A h T At+A+
+(—a))j yha ay, dX+(m)IWna a'y,dx

—© —0

=Jn Vn-1y,, (i)
ad'y,=a@"y,)=an+ly,,
=Jn+14 V1
=Jn+1 Vn+ly,
=(n+1) v, (i)
Ay, =8 @y,)=4"Vny,,
=/n A Woay
=vn Vny,
“ny, (i)
ata'y,=a"(@'y,)=a"Vn+1ly,,
=Jn+1 A" W
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=Jn+1Vn+2 y,,, (iv)
iy oSle) Aldadl 8 e i e e i e IS o e

2 N N
= (—— -1 d — n+1 dx
> (Zma))_jooz//nﬁ\/n Voo X+(2mw)_foot/fn( +1) w,

o\ NN e )
+(m)£‘//n” V/ndx+(m)__[://n N+1Jn+2 y,, dx
h h
<RE>=(—)(+D+(—)n
(me)( ) (me)
o2 h
<X >=(——)(n+1+n)
2mae
2 h
R >=(——)(2n+1)
2mao

cR2s= b (n+1)
Mo

('J'ﬂw “}M\M\) <p> Alay) GG

p= _i(m_a)hjz (a-4a%) 28l alasinly
< Mok~
<p>= [y, (HI(7)7 (A-a7) v, dx

=—i(—)2 jwnéwn dx +i("

)2 It//n a'y, dx

=i (—)2 IWn\/—Wn 1dX—H(—)2 IWn vn+1 Yni1 dx

__ (_) \/_j(//ny/n 1dx+|(—)2\/n+ fl//nwn+1dx
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. <p>=0 = <p>°=0

=i " Fa-a)

=—(m—“”")(aa+aa++a+a+a+a+)

< p? > gl

<p*>= [y, Py, dx

= [ v, (—m—m)(aa 44° —4*a+ata)y, dx

moh, 7 .. A At
<p*>=- (=) [waady, dx+ (" )anaa Vo d

ma)h moh, 7 .
—) j _atay, dx— (T) [y, a"ay, dx

i oMot Alladll & Ve i ¢ i e T o S s

<p®>= mwh)j o1y, , dx+ ("

h [e¢]
5 ) [V (D, o

mwh, ¢
Ny, dx—(%) [woVn+1dn+2y,,, dx

ma)h

A2>=(mT“’h)( 11+ (M9,

_(m—”h)(n+1+ n)

Mo h

=) @n+)

< PP >= mcoh(n+%) G sllaall 58
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b) ApAx
(AX)? =< X% > —< X >?

(AX)? =< x* >—-0

M 2

Ax:‘/i (n+£)
maw 2

(Ap)? =< p®>-<p>?

(Ap)* =< p® >-0

=< p% >=mah(n +%)

Ap=,/mcoh(n+%)
1

Apr:\/ma)h(n+%)-\/mia) (n+5)

Apr:(n+%)h

c) (21 sagal)) <V(X)> Al A8l dad siall Lol ds)

1 1, 1
=—how (N+=)==E
2 ( 2) 2 "
S ) dalall 428 gial) daall ol

_<p?> moh(n+])
2m 2m

<T >
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<E>=<T>+<V >:1En+lEn:En:(n+l) ho
2 2 2

Q) By using operator treatment procedure, derive the energy levels for the harmonic

oscillator. Hint: start from the formula {ho (é+é+%) v, (Y)=Ew,(V)}.

Solution:
aia 1
ho(& a+5) W =B W o (a)
+A+A 1 A+ +
ho(a"a a+§a Yw,=E & v,
o, at]=1 = ara=aat-1

A+

A A 1,
o ho{d™(@a" -1 +§a+}1//n =E 4"y,

A+ A 1A+ A+ A+
no{a'a+aHay,) = (E, +ho)@y,)

H(a"y,) = (E, + ho)@y,)

o &'y, =Jn+ly,, and E,+ho=E, ,

. H Yo = EnaWna
By multiplying equation (a) by & instead 4" and using a similar procedure one may
gate

I:I Vna1= En—l Vna

208



So Hay, =(E, —ho) ay,
ay, =0

Then Hy, =E, .,

ho(ad"a+ %) v.=E.y,

- - E
5 4 N4
ho ¢
2
E..=E, +ho
3 5 7

E ="tho, E,=~ho, E,=-ho,
1 2 2 2 3 2

E,=ho(n+ %)
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